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1.
Rappaport, p. 169, problem 4.15.

Use the exact expression, not the parallel-ray approximation. The result can be expressed as







df = [ ( (2 – Aht2)( (2 – Bhr2) ]1/2 / C(
What are the numbers A, B, C?

What is the result if the parallel-ray approximation is used?

2.
Rappaport, p. 170, problem 4.19.

3.
Rappaport, p. 170, problem 4.20.

4.
Rappaport, p. 170, problem 4.22.

Interpret “define the standard deviation” as “determine the standard deviation.”

5.
Rappaport, p. 172, problem 4.27.


The basics of noise figure calculations (beyond what was covered in class) are reviewed in Appendix B.

6.
Rappaport, p. 172, problem 4.28.


Recall that the AMPS system uses bandwidths of 30 kHz.


EIRP is defined in Eq. (4.4).

